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p0        0.0±  3907 

p1        0.0001912± -0.0004036 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,0)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,2,1)
 / ndf 2χ  45.76 / 25

p0        0.0±  3908 

p1        0.0001928± -0.0002345 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,1)

TP delay [ns]
0 20 40 60 80 100

3902

3903

3904

TVC (Mean) vs TP delay (c,b,ch)=(4,2,2)
 / ndf 2χ  36.85 / 25

p0        0.0±  3904 

p1        0.0001807± -0.0005405 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,2)

TP delay [ns]
0 20 40 60 80 100

3903

3904

3905

3906

3907

TVC (Mean) vs TP delay (c,b,ch)=(4,2,3)
 / ndf 2χ  39.38 / 25

p0        0.0±  3908 

p1        0.0001835± -0.0002829 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,3)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,2,4) / ndf 2χ  24.61 / 25

p0        0.0±  3915 

p1        1.90e-04± 2.34e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,4)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,2,5)
 / ndf 2χ  24.38 / 25

p0        0.0±  3910 

p1        0.0001748± -0.0004783 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,5)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,2,6)
 / ndf 2χ  33.87 / 25

p0        0.0±  3909 

p1        0.0001630± -0.0001113 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,6)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,2,7)
 / ndf 2χ   51.7 / 25

p0        0.0±  3912 

p1        0.0001785± -0.0004902 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,7)

TP delay [ns]
0 20 40 60 80 100

3901

3902

3903

3904

TVC (Mean) vs TP delay (c,b,ch)=(4,2,8)
 / ndf 2χ  19.54 / 25

p0        0.0±  3904 

p1        0.0002020± -0.0002102 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,8)

TP delay [ns]
0 20 40 60 80 100

3911

TVC (Mean) vs TP delay (c,b,ch)=(4,2,9)
 / ndf 2χ  35.27 / 25

p0        0.0±  3911 

p1        0.0001737± -0.0001635 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,9)

TP delay [ns]
0 20 40 60 80 100

3908

3909

3910

TVC (Mean) vs TP delay (c,b,ch)=(4,2,10)
 / ndf 2χ  19.55 / 25

p0        0.0±  3911 

p1        0.0001855± -0.0002448 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,10)

TP delay [ns]
0 20 40 60 80 100

3912

3913

3914

3915

TVC (Mean) vs TP delay (c,b,ch)=(4,2,11) / ndf 2χ  19.88 / 25

p0        0.0±  3915 

p1        0.000171± -0.000392 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,11)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,2,12)
 / ndf 2χ  32.19 / 25

p0        0.0±  3895 

p1        0.0001742± 0.0002199 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,12)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,2,13)
 / ndf 2χ  25.11 / 25

p0        0.0±  3894 

p1        0.0001701± 0.0001157 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,13)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,2,14) / ndf 2χ  30.38 / 25

p0        0.0±  3899 

p1        0.000175± 0.000232 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,14)

TP delay [ns]
0 20 40 60 80 100

3897

TVC (Mean) vs TP delay (c,b,ch)=(4,2,15) / ndf 2χ  36.51 / 25

p0        0.0±  3897 

p1        0.000175± 0.000541 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,15)



TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,3,0)
 / ndf 2χ   19.5 / 25

p0        0.0±  3920 

p1        0.0001915± -0.0003558 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,0)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,3,1) / ndf 2χ   20.3 / 25

p0        0.0±  3912 

p1        0.000189± -0.000351 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,1)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,3,2)
 / ndf 2χ  37.17 / 25

p0        0.0±  3914 

p1        0.0001968± -0.0003355 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,2)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,3,3)
 / ndf 2χ  13.74 / 25

p0        0.0±  3915 

p1        0.0001883± -0.0007554 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,3)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,3,4)
 / ndf 2χ  18.49 / 25

p0        0.0±  3910 

p1        1.883e-04± -2.238e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,4)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,3,5)
 / ndf 2χ  21.98 / 25

p0        0.0±  3904 

p1        0.0001916± -0.0001901 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,5)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,3,6)
 / ndf 2χ  44.63 / 25

p0        0.0±  3930 

p1        1.830e-04± -7.171e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,6)

TP delay [ns]
0 20 40 60 80 100

3919

TVC (Mean) vs TP delay (c,b,ch)=(4,3,7)
 / ndf 2χ  43.97 / 25

p0        0.0±  3919 

p1        0.0001774± -0.0001111 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,7)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,3,8)
 / ndf 2χ  31.93 / 25

p0        0.0±  3923 

p1        0.0001994± -0.0007055 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,8)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,3,9)
 / ndf 2χ  23.94 / 25

p0        0.0±  3916 

p1        0.0001876± -0.0004934 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,9)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,3,10)
 / ndf 2χ  49.49 / 25

p0        0.0±  3914 

p1        0.0001808± -0.0002415 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,10)

TP delay [ns]
0 20 40 60 80 100

3925

TVC (Mean) vs TP delay (c,b,ch)=(4,3,11)
 / ndf 2χ  44.69 / 25

p0        0.0±  3925 

p1        0.0001842± -0.0004674 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,11)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,3,12)
 / ndf 2χ  36.66 / 25

p0        0.0±  3933 

p1        0.0001895± -0.0003671 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,12)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,3,13)
 / ndf 2χ  35.53 / 25

p0        0.0±  3927 

p1        0.0001694± -0.0004171 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,13)

TP delay [ns]
0 20 40 60 80 100

3926

3927

3928

TVC (Mean) vs TP delay (c,b,ch)=(4,3,14)
 / ndf 2χ   17.7 / 25

p0        0.0±  3928 

p1        0.0002183± -0.0006624 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,14)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,3,15)
 / ndf 2χ  38.91 / 25

p0        0.0±  3932 

p1        0.0001876± -0.0006449 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,15)



TP delay [ns]
0 20 40 60 80 100

3913

3914

3915

3916

3917

TVC (Mean) vs TP delay (c,b,ch)=(4,4,0)
 / ndf 2χ   26.2 / 25

p0        0.0±  3917 

p1        0.0001833± 0.0005504 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,0)

TP delay [ns]
0 20 40 60 80 100

3909

3910

3911

3912

3913

3914

3915

TVC (Mean) vs TP delay (c,b,ch)=(4,4,1)
 / ndf 2χ  15.35 / 25

p0        0.0±  3915 

p1        0.0001914± 0.0004448 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,1)

TP delay [ns]
0 20 40 60 80 100

3926

3927

3928

TVC (Mean) vs TP delay (c,b,ch)=(4,4,2)
 / ndf 2χ  22.09 / 25

p0        0.0±  3929 

p1        0.0001852± 0.0002501 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,2)

TP delay [ns]
0 20 40 60 80 100

3916

3917

3918

3919

3920

3921

3922

3923

3924

TVC (Mean) vs TP delay (c,b,ch)=(4,4,3)
 / ndf 2χ  20.81 / 25

p0        0.0±  3924 

p1        0.0001953± -0.0001182 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,3)

TP delay [ns]
0 20 40 60 80 100

3925

TVC (Mean) vs TP delay (c,b,ch)=(4,4,4)
 / ndf 2χ  37.47 / 25

p0        0.0±  3925 

p1        1.855e-04± -7.135e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,4)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,4,5)
 / ndf 2χ  75.11 / 25

p0        0.0±  3930 

p1        0.0001874± -0.0002263 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,5)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,4,6)
 / ndf 2χ  30.53 / 25

p0        0.0±  3927 

p1        0.0001988± -0.0002648 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,6)

TP delay [ns]
0 20 40 60 80 100

3918

TVC (Mean) vs TP delay (c,b,ch)=(4,4,7)
 / ndf 2χ   40.2 / 25

p0        0.0±  3918 

p1        0.0001934± -0.0004268 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,7)

TP delay [ns]
0 20 40 60 80 100

3938

3939

3940

3941

3942

TVC (Mean) vs TP delay (c,b,ch)=(4,4,8)
 / ndf 2χ  34.78 / 25

p0        0.0±  3942 

p1        0.0001991± -0.0003579 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,8)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,4,9)
 / ndf 2χ  40.25 / 25

p0        0.0±  3941 

p1        0.0001982± -0.0002296 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,9)

TP delay [ns]
0 20 40 60 80 100

3938

3939

3940

3941

TVC (Mean) vs TP delay (c,b,ch)=(4,4,10)
 / ndf 2χ  23.24 / 25

p0        0.0±  3941 

p1        0.0001904± -0.0005431 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,10)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,4,11)
 / ndf 2χ   33.3 / 25

p0        0.0±  3935 

p1        0.0001813± -0.0002407 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,11)

TP delay [ns]
0 20 40 60 80 100

3927

3928

TVC (Mean) vs TP delay (c,b,ch)=(4,4,12)
 / ndf 2χ  30.56 / 25

p0        0.0±  3929 

p1        0.0002037± 0.0002347 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,12)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,4,13)
 / ndf 2χ  15.66 / 25

p0        0.0±  3938 

p1        0.0002234± -0.0003988 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,13)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,4,14) / ndf 2χ  25.74 / 25

p0        0.0±  3935 

p1        2.09e-04± -5.32e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,14)

TP delay [ns]
0 20 40 60 80 100

3922

3923

3924

3925

3926

3927

TVC (Mean) vs TP delay (c,b,ch)=(4,4,15)
 / ndf 2χ  23.03 / 25

p0        0.0±  3927 

p1        1.891e-04± -3.773e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,15)



TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,5,0)
 / ndf 2χ  33.62 / 25

p0        0.0±  3915 

p1        0.0001846± -0.0003661 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,0)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,5,1)
 / ndf 2χ   42.9 / 25

p0        0.0±  3913 

p1        0.0001924± -0.0002386 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,1)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,5,2)
 / ndf 2χ  28.84 / 25

p0        0.0±  3918 

p1        1.772e-04± -2.171e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,2)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,5,3)
 / ndf 2χ  45.34 / 25

p0        0.0±  3923 

p1        0.0001795± -0.0003718 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,3)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,5,4) / ndf 2χ  36.62 / 25

p0        0.0±  3911 

p1        0.000185± -0.000181 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,4)

TP delay [ns]
0 20 40 60 80 100

3900

3901

3902

3903

3904

3905

3906

TVC (Mean) vs TP delay (c,b,ch)=(4,5,5)
 / ndf 2χ  23.69 / 25

p0        0.0±  3906 

p1        0.0002007± 0.0002641 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,5)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,5,6)
 / ndf 2χ  31.73 / 25

p0        0.0±  3917 

p1        0.0001774± 0.0003082 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,6)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,5,7)
 / ndf 2χ  42.85 / 25

p0        0.0±  3908 

p1        0.0001821± 0.0002606 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,7)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,5,8)
 / ndf 2χ  51.17 / 25

p0        0.0±  3938 

p1        1.912e-04± 5.337e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,8)

TP delay [ns]
0 20 40 60 80 100

3935

TVC (Mean) vs TP delay (c,b,ch)=(4,5,9) / ndf 2χ  32.26 / 25

p0        0.0±  3935 

p1        1.9e-04± -5.9e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,9)

TP delay [ns]
0 20 40 60 80 100

3937

TVC (Mean) vs TP delay (c,b,ch)=(4,5,10)
 / ndf 2χ  33.49 / 25

p0        0.0±  3937 

p1        0.0001831± -0.0003008 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,10)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,5,11)
 / ndf 2χ  24.91 / 25

p0        0.0±  3933 

p1        1.835e-04± -2.913e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,11)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,5,12)
 / ndf 2χ  28.37 / 25

p0        0.0±  3935 

p1        1.940e-04± 8.949e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,12)

TP delay [ns]
0 20 40 60 80 100

3930

3931

3932

3933

3934

3935

TVC (Mean) vs TP delay (c,b,ch)=(4,5,13)
 / ndf 2χ  24.16 / 25

p0        0.0±  3935 

p1        1.914e-04± 1.229e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,13)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,5,14)
 / ndf 2χ  18.89 / 25

p0        0.0±  3939 

p1        0.0001951± -0.0002779 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,14)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,5,15) / ndf 2χ  23.93 / 25

p0        0.0±  3939 

p1        0.000182± -0.000471 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,15)



TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,6,0)
 / ndf 2χ  29.05 / 25

p0        0.0±  3920 

p1        0.0001817± -0.0001158 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,0)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,6,1)
 / ndf 2χ  26.61 / 25

p0        0.0±  3924 

p1        0.0001861± -0.0004402 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,1)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,6,2)
 / ndf 2χ  29.81 / 25

p0        0.0±  3931 

p1        1.777e-04± -3.931e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,2)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,6,3)
 / ndf 2χ  28.49 / 25

p0        0.0±  3926 

p1        1.798e-04± -3.673e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,3)

TP delay [ns]
0 20 40 60 80 100

3915

TVC (Mean) vs TP delay (c,b,ch)=(4,6,4)
 / ndf 2χ  18.88 / 25

p0        0.0±  3915 

p1        0.0001920± -0.0003447 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,4)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,6,5)
 / ndf 2χ  21.58 / 25

p0        0.0±  3913 

p1        0.0002005± -0.0003973 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,5)

TP delay [ns]
0 20 40 60 80 100

3913

TVC (Mean) vs TP delay (c,b,ch)=(4,6,6)
 / ndf 2χ  14.05 / 25

p0        0.0±  3913 

p1        0.0001820± -0.0006477 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,6)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,6,7)
 / ndf 2χ  16.19 / 25

p0        0.0±  3912 

p1        0.0001931± -0.0004835 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,7)

TP delay [ns]
0 20 40 60 80 100

3923

3924

3925

TVC (Mean) vs TP delay (c,b,ch)=(4,6,8)
 / ndf 2χ  35.37 / 25

p0        0.0±  3926 

p1        0.0001987± -0.0004555 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,8)

TP delay [ns]
0 20 40 60 80 100

3916

TVC (Mean) vs TP delay (c,b,ch)=(4,6,9)
 / ndf 2χ     41 / 25

p0        0.0±  3916 

p1        0.0001894± -0.0005689 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,9)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,6,10)
 / ndf 2χ   43.1 / 25

p0        0.0±  3916 

p1        0.0001789± -0.0005277 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,10)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,6,11)
 / ndf 2χ  22.97 / 25

p0        0.0±  3923 

p1        0.0001832± -0.0004491 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,11)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,6,12) / ndf 2χ  35.95 / 25

p0        0.0±  3928 

p1        0.000198± -0.000102 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,12)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,6,13)
 / ndf 2χ  36.96 / 25

p0        0.0±  3928 

p1        2.041e-04± 8.976e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,13)

TP delay [ns]
0 20 40 60 80 100

3917

TVC (Mean) vs TP delay (c,b,ch)=(4,6,14)
 / ndf 2χ  56.36 / 25

p0        0.0±  3917 

p1        0.0001657± -0.0002353 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,14)

TP delay [ns]
0 20 40 60 80 100

3925

TVC (Mean) vs TP delay (c,b,ch)=(4,6,15)
 / ndf 2χ  17.79 / 25

p0        0.0±  3925 

p1        1.722e-04± 4.148e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,15)



TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,7,0)
 / ndf 2χ  49.32 / 25

p0        0.0±  3942 

p1        0.0001824± -0.0002485 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,0)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,7,1)
 / ndf 2χ   43.5 / 25

p0        0.0±  3944 

p1        0.0001856± -0.0003011 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,1)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,7,2)
 / ndf 2χ  43.19 / 25

p0        0.0±  3939 

p1        0.0001814± -0.0002382 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,2)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,7,3)
 / ndf 2χ  36.78 / 25

p0        0.0±  3942 

p1        0.0001867± -0.0001445 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,3)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,7,4)
 / ndf 2χ  38.93 / 25

p0        0.0±  3928 

p1        2.011e-04± -6.918e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,4)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,7,5)
 / ndf 2χ  30.82 / 25

p0        0.0±  3927 

p1        0.0001940± -0.0004146 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,5)

TP delay [ns]
0 20 40 60 80 100

3930

3931

TVC (Mean) vs TP delay (c,b,ch)=(4,7,6)
 / ndf 2χ  52.26 / 25

p0        0.0±  3931 

p1        0.0002088± -0.0002008 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,6)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,7,7)
 / ndf 2χ  29.72 / 25

p0        0.0±  3942 

p1        0.0001917± 0.0003113 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,7)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,7,8)
 / ndf 2χ  32.55 / 25

p0        0.0±  3934 

p1        1.839e-04± -2.824e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,8)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,7,9)
 / ndf 2χ  23.45 / 25

p0        0.0±  3930 

p1        0.0001857± 0.0001374 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,9)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,7,10)
 / ndf 2χ  22.29 / 25

p0        0.0±  3926 

p1        1.822e-04± -4.047e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,10)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,7,11)
 / ndf 2χ  20.23 / 25

p0        0.0±  3925 

p1        0.0001795± -0.0002751 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,11)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,7,12)
 / ndf 2χ  33.34 / 25

p0        0.0±  3952 

p1        0.0001942± -0.0005786 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,12)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,7,13)
 / ndf 2χ  27.21 / 25

p0        0.0±  3954 

p1        0.0001947± -0.0006522 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,13)

TP delay [ns]
0 20 40 60 80 100

3951

3952

TVC (Mean) vs TP delay (c,b,ch)=(4,7,14)
 / ndf 2χ  32.85 / 25

p0        0.0±  3952 

p1        0.0002060± -0.0002495 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,14)

TP delay [ns]
0 20 40 60 80 100

3956

3957

TVC (Mean) vs TP delay (c,b,ch)=(4,7,15) / ndf 2χ   22.9 / 25

p0        0.0±  3958 

p1        0.000189± -0.001087 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,15)



TP delay [ns]
0 20 40 60 80 100

3912

3913

TVC (Mean) vs TP delay (c,b,ch)=(4,8,0)
 / ndf 2χ  27.89 / 25

p0        0.0±  3914 

p1        1.798e-04± 9.926e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,0)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,8,1)
 / ndf 2χ  25.61 / 25

p0        0.0±  3912 

p1        0.0001858± -0.0001855 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,1)

TP delay [ns]
0 20 40 60 80 100

3923

TVC (Mean) vs TP delay (c,b,ch)=(4,8,2)
 / ndf 2χ   34.5 / 25

p0        0.0±  3923 

p1        0.0001934± -0.0001628 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,2)

TP delay [ns]
0 20 40 60 80 100

3912

3913

3914

3915

3916

3917

TVC (Mean) vs TP delay (c,b,ch)=(4,8,3)
 / ndf 2χ  26.27 / 25

p0        0.0±  3917 

p1        1.882e-04± -1.211e-06 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,3)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,8,4)
 / ndf 2χ  62.43 / 25

p0        0.0±  3916 

p1        0.0001835± 0.0001645 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,4)

TP delay [ns]
0 20 40 60 80 100

3908

TVC (Mean) vs TP delay (c,b,ch)=(4,8,5)
 / ndf 2χ  37.79 / 25

p0        0.0±  3908 

p1        1.757e-04± 5.937e-06 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,5)

TP delay [ns]
0 20 40 60 80 100

3907

3908

3909

3910

TVC (Mean) vs TP delay (c,b,ch)=(4,8,6)
 / ndf 2χ  44.77 / 25

p0        0.0±  3910 

p1        0.0001919± -0.0005986 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,6)

TP delay [ns]
0 20 40 60 80 100

3905

3906

3907

3908

3909

3910

3911

TVC (Mean) vs TP delay (c,b,ch)=(4,8,7) / ndf 2χ   31.5 / 25

p0        0.0±  3911 

p1        0.000215± -0.000493 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,7)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,8,8)
 / ndf 2χ  23.43 / 25

p0        0.0±  3911 

p1        0.0001866± -0.0004893 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,8)

TP delay [ns]
0 20 40 60 80 100

3906

3907

3908

TVC (Mean) vs TP delay (c,b,ch)=(4,8,9) / ndf 2χ  33.54 / 25

p0        0.0±  3909 

p1        1.78e-04± -8.26e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,9)

TP delay [ns]
0 20 40 60 80 100

3911

TVC (Mean) vs TP delay (c,b,ch)=(4,8,10)
 / ndf 2χ  45.01 / 25

p0        0.0±  3911 

p1        0.0001754± -0.0001989 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,10)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,8,11)
 / ndf 2χ  42.82 / 25

p0        0.0±  3915 

p1        0.0001886± -0.0002707 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,11)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,8,12)
 / ndf 2χ     29 / 25

p0        0.0±  3897 

p1        0.0001902± -0.0004692 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,12)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,8,13)
 / ndf 2χ  28.93 / 25

p0        0.0±  3901 

p1        0.0001816± -0.0006148 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,13)

TP delay [ns]
0 20 40 60 80 100

3899

3900

3901

3902

3903

TVC (Mean) vs TP delay (c,b,ch)=(4,8,14)
 / ndf 2χ  29.53 / 25

p0        0.0±  3903 

p1        0.0001997± -0.0004852 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,14)

TP delay [ns]
0 20 40 60 80 100

3909

TVC (Mean) vs TP delay (c,b,ch)=(4,8,15)
 / ndf 2χ  46.87 / 25

p0        0.0±  3909 

p1        1.786e-04± 5.103e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,15)



TP delay [ns]
0 20 40 60 80 100

3950

3951

3952

3953

TVC (Mean) vs TP delay (c,b,ch)=(4,9,0) / ndf 2χ  61.61 / 25

p0        0.0±  3954 

p1        0.000177± -0.001078 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,0)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,9,1)
 / ndf 2χ  49.65 / 25

p0        0.0±  3946 

p1        0.0001950± -0.0008742 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,1)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,9,2)
 / ndf 2χ  27.61 / 25

p0        0.0±  3948 

p1        0.0001924± -0.0007706 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,2)

TP delay [ns]
0 20 40 60 80 100

3954

3955

TVC (Mean) vs TP delay (c,b,ch)=(4,9,3) / ndf 2χ  39.87 / 25

p0        0.0±  3955 

p1        0.000200± -0.001292 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,3)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,9,4) / ndf 2χ   44.3 / 25

p0        0.0±  3928 

p1        0.00019± -0.00072 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,4)

TP delay [ns]
0 20 40 60 80 100

3932

3933

3934

3935

3936

3937

3938

TVC (Mean) vs TP delay (c,b,ch)=(4,9,5) / ndf 2χ  28.69 / 25

p0        0.0±  3938 

p1        0.000189± -0.001026 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,5)

TP delay [ns]
0 20 40 60 80 100

3942

TVC (Mean) vs TP delay (c,b,ch)=(4,9,6) / ndf 2χ  30.61 / 25

p0        0.0±  3942 

p1        0.000193± -0.000526 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,6)

TP delay [ns]
0 20 40 60 80 100

3939

3940

TVC (Mean) vs TP delay (c,b,ch)=(4,9,7)
 / ndf 2χ  36.08 / 25

p0        0.0±  3940 

p1        0.0001991± -0.0005257 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,7)

TP delay [ns]
0 20 40 60 80 100

3929

3930

3931

3932

TVC (Mean) vs TP delay (c,b,ch)=(4,9,8)
 / ndf 2χ  35.35 / 25

p0        0.0±  3933 

p1        0.0001895± -0.0003465 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,8)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,9,9)
 / ndf 2χ  26.12 / 25

p0        0.0±  3935 

p1        0.0001827± -0.0005962 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,9)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,9,10)
 / ndf 2χ  34.84 / 25

p0        0.0±  3936 

p1        1.754e-04± 9.835e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,10)

TP delay [ns]
0 20 40 60 80 100

3932

3933

TVC (Mean) vs TP delay (c,b,ch)=(4,9,11) / ndf 2χ  41.93 / 25

p0        0.0±  3933 

p1        1.84e-04± -7.95e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,11)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,9,12)
 / ndf 2χ  38.37 / 25

p0        0.0±  3934 

p1        1.754e-04± -8.348e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,12)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,9,13)
 / ndf 2χ  16.35 / 25

p0        0.0±  3933 

p1        0.0001870± -0.0005232 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,13)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,9,14)
 / ndf 2χ  38.93 / 25

p0        0.0±  3928 

p1        0.0001855± -0.0003523 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,14)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,9,15)
 / ndf 2χ  28.31 / 25

p0        0.0±  3937 

p1        0.0001810± -0.0004373 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,15)



TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,10,0)
 / ndf 2χ  27.45 / 25

p0        0.0±  3901 

p1        0.0001867± -0.0003702 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,0)

TP delay [ns]
0 20 40 60 80 100

3916

TVC (Mean) vs TP delay (c,b,ch)=(4,10,1)
 / ndf 2χ  23.35 / 25

p0        0.0±  3916 

p1        0.0001899± -0.0006875 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,1)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,10,2)
 / ndf 2χ  37.16 / 25

p0        0.0±  3906 

p1        0.0001796± -0.0004683 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,2)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,10,3)
 / ndf 2χ  30.03 / 25

p0        0.0±  3911 

p1        0.0001787± -0.0004813 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,3)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,10,4)
 / ndf 2χ  34.14 / 25

p0        0.0±  3928 

p1        0.0001979± -0.0001228 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,4)

TP delay [ns]
0 20 40 60 80 100

3925

TVC (Mean) vs TP delay (c,b,ch)=(4,10,5)
 / ndf 2χ  44.58 / 25

p0        0.0±  3926 

p1        0.0002030± -0.0006532 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,5)

TP delay [ns]
0 20 40 60 80 100

3931

TVC (Mean) vs TP delay (c,b,ch)=(4,10,6)
 / ndf 2χ  25.18 / 25

p0        0.0±  3931 

p1        0.0001785± -0.0002919 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,6)

TP delay [ns]
0 20 40 60 80 100

3926

3927

3928

3929

3930

3931

3932

3933
TVC (Mean) vs TP delay (c,b,ch)=(4,10,7)

 / ndf 2χ  27.35 / 25

p0        0.0±  3933 

p1        0.0001961± -0.0005098 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,7)

TP delay [ns]
0 20 40 60 80 100

3910

3911

3912

3913

3914

3915

3916

TVC (Mean) vs TP delay (c,b,ch)=(4,10,8)
 / ndf 2χ  34.18 / 25

p0        0.0±  3916 

p1        0.0002086± 0.0002236 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,8)

TP delay [ns]
0 20 40 60 80 100

3915

3916

3917

TVC (Mean) vs TP delay (c,b,ch)=(4,10,9)
 / ndf 2χ  30.99 / 25

p0        0.0±  3917 

p1        0.0001838± 0.0002389 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,9)

TP delay [ns]
0 20 40 60 80 100

3915

3916

TVC (Mean) vs TP delay (c,b,ch)=(4,10,10)
 / ndf 2χ  25.63 / 25

p0        0.0±  3916 

p1        0.0002048± 0.0001187 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,10)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,10,11)
 / ndf 2χ  18.28 / 25

p0        0.0±  3921 

p1        1.859e-04± 8.582e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,11)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,10,12)
 / ndf 2χ  21.22 / 25

p0        0.0±  3924 

p1        0.0001838± 0.0002375 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,12)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,10,13)
 / ndf 2χ  34.85 / 25

p0        0.0±  3938 

p1        0.0001792± 0.0002907 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,13)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,10,14)
 / ndf 2χ  25.77 / 25

p0        0.0±  3937 

p1        1.895e-04± 7.513e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,14)

TP delay [ns]
0 20 40 60 80 100

3926

TVC (Mean) vs TP delay (c,b,ch)=(4,10,15) / ndf 2χ  24.12 / 25

p0        0.0±  3926 

p1        1.82e-04± 6.02e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,15)



TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,11,0)
 / ndf 2χ  52.11 / 25

p0        0.0±  3924 

p1        0.0001965± 0.0001033 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,0)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,11,1)
 / ndf 2χ  44.07 / 25

p0        0.0±  3932 

p1        0.0001892± -0.0003037 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,1)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,11,2)
 / ndf 2χ  31.44 / 25

p0        0.0±  3930 

p1        1.855e-04± -1.128e-06 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,2)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,11,3)
 / ndf 2χ  44.18 / 25

p0        0.0±  3926 

p1        1.780e-04± 9.321e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,3)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,11,4)
 / ndf 2χ  45.07 / 25

p0        0.0±  3953 

p1        0.0001922± -0.0003436 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,4)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,11,5)
 / ndf 2χ  22.06 / 25

p0        0.0±  3945 

p1        0.0002175± 0.0001614 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,5)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,11,6)
 / ndf 2χ  49.77 / 25

p0        0.0±  3952 

p1        0.0001958± -0.0001053 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,6)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,11,7)
 / ndf 2χ  46.23 / 25

p0        0.0±  3950 

p1        0.0001711± 0.0001731 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,7)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,11,8) / ndf 2χ  38.41 / 25

p0        0.0±  3926 

p1        0.000179± -0.000451 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,8)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,11,9)
 / ndf 2χ  18.07 / 25

p0        0.0±  3932 

p1        0.0001870± -0.0005494 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,9)

TP delay [ns]
0 20 40 60 80 100

3933

TVC (Mean) vs TP delay (c,b,ch)=(4,11,10)
 / ndf 2χ  27.41 / 25

p0        0.0±  3933 

p1        0.0001861± -0.0002012 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,10)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,11,11)
 / ndf 2χ  42.87 / 25

p0        0.0±  3927 

p1        0.000189± -0.000665 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,11)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,11,12)
 / ndf 2χ  21.46 / 25

p0        0.0±  3934 

p1        0.0002133± -0.0006353 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,12)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,11,13)
 / ndf 2χ   31.7 / 25

p0        0.0±  3926 

p1        0.0001838± -0.0001993 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,13)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,11,14) / ndf 2χ  25.33 / 25

p0        0.0±  3929 

p1        0.000191± -0.000192 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,14)

TP delay [ns]
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3931

TVC (Mean) vs TP delay (c,b,ch)=(4,11,15)
 / ndf 2χ  32.41 / 25

p0        0.0±  3931 

p1        0.0001661± -0.0005549 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,15)



TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,12,0)
 / ndf 2χ   23.5 / 25

p0        0.0±  3930 

p1        0.0001913± -0.0009356 

TVC (Mean) vs TP delay (c,b,ch)=(4,12,0)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,12,1)
 / ndf 2χ  17.03 / 25

p0        0.0±  3943 

p1        0.0001854± -0.0006869 

TVC (Mean) vs TP delay (c,b,ch)=(4,12,1)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,12,2) / ndf 2χ  31.56 / 25

p0        0.0±  3937 

p1        0.000195± -0.001029 

TVC (Mean) vs TP delay (c,b,ch)=(4,12,2)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,12,3)
 / ndf 2χ  26.84 / 25

p0        0.0±  3933 

p1        0.0001781± -0.0008159 

TVC (Mean) vs TP delay (c,b,ch)=(4,12,3)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,12,4)
 / ndf 2χ  18.16 / 25

p0        0.0±  3920 

p1        0.0001917± -0.0001416 

TVC (Mean) vs TP delay (c,b,ch)=(4,12,4)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,12,5)
 / ndf 2χ  39.14 / 25

p0        0.0±  3920 

p1        1.812e-04± -1.949e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,12,5)
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TVC (Mean) vs TP delay (c,b,ch)=(4,12,6) / ndf 2χ  37.68 / 25

p0        0.0±  3917 

p1        0.000182± -0.000166 

TVC (Mean) vs TP delay (c,b,ch)=(4,12,6)
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0 20 40 60 80 100

3915

3916

3917

3918

3919

3920

3921

3922

TVC (Mean) vs TP delay (c,b,ch)=(4,12,7)
 / ndf 2χ  33.05 / 25

p0        0.0±  3922 

p1        0.000184± -0.000304 

TVC (Mean) vs TP delay (c,b,ch)=(4,12,7)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,12,8)
 / ndf 2χ  18.98 / 25

p0        0.0±  3911 

p1        0.0001812± -0.0002628 

TVC (Mean) vs TP delay (c,b,ch)=(4,12,8)
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TVC (Mean) vs TP delay (c,b,ch)=(4,12,9)
 / ndf 2χ  28.91 / 25

p0        0.0±  3910 

p1        1.925e-04± -4.221e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,12,9)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,12,10)
 / ndf 2χ  33.27 / 25

p0        0.0±  3913 

p1        0.0001822± 0.0001813 

TVC (Mean) vs TP delay (c,b,ch)=(4,12,10)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,12,11)
 / ndf 2χ  22.44 / 25

p0        0.0±  3911 

p1        0.0001853± -0.0001302 

TVC (Mean) vs TP delay (c,b,ch)=(4,12,11)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,12,12)
 / ndf 2χ  22.18 / 25

p0        0.0±  3904 

p1        0.0001988± -0.0007446 

TVC (Mean) vs TP delay (c,b,ch)=(4,12,12)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,12,13)
 / ndf 2χ  33.97 / 25

p0        0.0±  3896 

p1        0.0001953± -0.0006836 

TVC (Mean) vs TP delay (c,b,ch)=(4,12,13)
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TVC (Mean) vs TP delay (c,b,ch)=(4,12,14)
 / ndf 2χ  18.35 / 25

p0        0.0±  3898 

p1        0.0001861± -0.0003361 

TVC (Mean) vs TP delay (c,b,ch)=(4,12,14)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,12,15)
 / ndf 2χ  27.99 / 25

p0        0.0±  3897 

p1        0.0001929± -0.0004532 

TVC (Mean) vs TP delay (c,b,ch)=(4,12,15)



TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,13,0)
 / ndf 2χ   36.3 / 25

p0        0.0±  4029 

p1        0.0001946± 0.0001133 

TVC (Mean) vs TP delay (c,b,ch)=(4,13,0)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,13,1)
 / ndf 2χ     56 / 25

p0        0.0±  4019 

p1        0.0001776± 0.0002368 

TVC (Mean) vs TP delay (c,b,ch)=(4,13,1)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,13,2)
 / ndf 2χ  47.14 / 25

p0        0.0±  4023 

p1        1.847e-04± -3.259e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,13,2)
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TVC (Mean) vs TP delay (c,b,ch)=(4,13,3)
 / ndf 2χ  56.92 / 25

p0        0.0±  4030 

p1        0.0001798± -0.0003739 

TVC (Mean) vs TP delay (c,b,ch)=(4,13,3)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,13,4)
 / ndf 2χ  36.96 / 25

p0        0.0±  3959 

p1        1.851e-04± -7.506e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,13,4)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,13,5)
 / ndf 2χ  31.85 / 25

p0        0.0±  3952 

p1        0.0001916± 0.0001869 

TVC (Mean) vs TP delay (c,b,ch)=(4,13,5)

TP delay [ns]
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3961

TVC (Mean) vs TP delay (c,b,ch)=(4,13,6)
 / ndf 2χ  22.93 / 25

p0        0.0±  3961 

p1        0.0001757± 0.0001212 

TVC (Mean) vs TP delay (c,b,ch)=(4,13,6)
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TVC (Mean) vs TP delay (c,b,ch)=(4,13,7)
 / ndf 2χ  27.55 / 25

p0        0.0±  3960 

p1        0.0001753± 0.0004552 

TVC (Mean) vs TP delay (c,b,ch)=(4,13,7)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,13,8)
 / ndf 2χ  40.68 / 25

p0        0.0±  4013 

p1        0.0001924± 0.0004262 

TVC (Mean) vs TP delay (c,b,ch)=(4,13,8)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,13,9) / ndf 2χ  36.78 / 25

p0        0.0±  4018 

p1        0.000189± 0.000236 

TVC (Mean) vs TP delay (c,b,ch)=(4,13,9)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,13,10)
 / ndf 2χ  38.75 / 25

p0        0.0±  4019 

p1        0.0001826± 0.0003445 

TVC (Mean) vs TP delay (c,b,ch)=(4,13,10)
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TVC (Mean) vs TP delay (c,b,ch)=(4,13,11)
 / ndf 2χ   27.5 / 25

p0        0.0±  4012 

p1        0.0002133± 0.0003885 

TVC (Mean) vs TP delay (c,b,ch)=(4,13,11)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,13,12)
 / ndf 2χ  27.01 / 25

p0        0.0±  3957 

p1        0.0001854± -0.0001174 

TVC (Mean) vs TP delay (c,b,ch)=(4,13,12)
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TVC (Mean) vs TP delay (c,b,ch)=(4,13,13)
 / ndf 2χ  36.47 / 25

p0        0.0±  3955 

p1        0.0001728± 0.0002453 

TVC (Mean) vs TP delay (c,b,ch)=(4,13,13)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,13,14)
 / ndf 2χ  20.64 / 25

p0        0.0±  3959 

p1        1.951e-04± -2.483e-06 

TVC (Mean) vs TP delay (c,b,ch)=(4,13,14)
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TVC (Mean) vs TP delay (c,b,ch)=(4,13,15)
 / ndf 2χ  40.24 / 25

p0        0.0±  3959 

p1        0.0001792± -0.0002696 

TVC (Mean) vs TP delay (c,b,ch)=(4,13,15)



TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,14,0)
 / ndf 2χ  30.87 / 25

p0        0.0±  3972 

p1        0.0001823± -0.0003816 

TVC (Mean) vs TP delay (c,b,ch)=(4,14,0)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,14,1)
 / ndf 2χ  22.04 / 25

p0        0.0±  3974 

p1        0.0001853± -0.0002225 

TVC (Mean) vs TP delay (c,b,ch)=(4,14,1)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,14,2) / ndf 2χ  35.71 / 25

p0        0.0±  3976 

p1        0.000183± -0.000683 

TVC (Mean) vs TP delay (c,b,ch)=(4,14,2)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,14,3)
 / ndf 2χ  21.99 / 25

p0        0.0±  3971 

p1        0.0001822± -0.0003554 

TVC (Mean) vs TP delay (c,b,ch)=(4,14,3)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,14,4)
 / ndf 2χ  37.06 / 25

p0        0.0±  3965 

p1        1.860e-04± -4.493e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,14,4)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,14,5)
 / ndf 2χ  40.38 / 25

p0        0.0±  3967 

p1        1.791e-04± -3.917e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,14,5)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,14,6)
 / ndf 2χ  59.68 / 25

p0        0.0±  3964 

p1        1.740e-04± -9.829e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,14,6)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,14,7)
 / ndf 2χ     44 / 25

p0        0.0±  3977 

p1        0.0001900± -0.0001053 

TVC (Mean) vs TP delay (c,b,ch)=(4,14,7)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,14,8)
 / ndf 2χ  23.68 / 25

p0        0.0±  3919 

p1        1.806e-04± -3.816e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,14,8)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,14,9)
 / ndf 2χ  24.98 / 25

p0        0.0±  3929 

p1        1.832e-04± 6.735e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,14,9)

TP delay [ns]
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3923

TVC (Mean) vs TP delay (c,b,ch)=(4,14,10)
 / ndf 2χ  30.41 / 25

p0        0.0±  3923 

p1        0.0001775± -0.0003878 

TVC (Mean) vs TP delay (c,b,ch)=(4,14,10)

TP delay [ns]
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3921

TVC (Mean) vs TP delay (c,b,ch)=(4,14,11)
 / ndf 2χ  35.74 / 25

p0        0.0±  3922 

p1        0.0001905± -0.0003319 

TVC (Mean) vs TP delay (c,b,ch)=(4,14,11)

TP delay [ns]
0 20 40 60 80 100

3965

TVC (Mean) vs TP delay (c,b,ch)=(4,14,12)
 / ndf 2χ   24.9 / 25

p0        0.0±  3965 

p1        0.0001910± -0.0003997 

TVC (Mean) vs TP delay (c,b,ch)=(4,14,12)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,14,13)
 / ndf 2χ  29.68 / 25

p0        0.0±  3965 

p1        0.0001870± -0.0007459 

TVC (Mean) vs TP delay (c,b,ch)=(4,14,13)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,14,14)
 / ndf 2χ  38.77 / 25

p0        0.0±  3956 

p1        0.0001865± -0.0003547 

TVC (Mean) vs TP delay (c,b,ch)=(4,14,14)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,14,15)
 / ndf 2χ  36.04 / 25

p0        0.0±  3955 

p1        0.0001885± -0.0001544 

TVC (Mean) vs TP delay (c,b,ch)=(4,14,15)



TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,15,0) / ndf 2χ  22.16 / 25

p0        0.0±  3937 

p1        0.00019± 0.00021 

TVC (Mean) vs TP delay (c,b,ch)=(4,15,0)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,15,1)
 / ndf 2χ  31.76 / 25

p0        0.0±  3928 

p1        0.0001882± -0.0001424 

TVC (Mean) vs TP delay (c,b,ch)=(4,15,1)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,15,2) / ndf 2χ  37.97 / 25

p0        0.0±  3935 

p1        0.000182± -0.000319 

TVC (Mean) vs TP delay (c,b,ch)=(4,15,2)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,15,3)
 / ndf 2χ  13.13 / 25

p0        0.0±  3937 

p1        1.874e-04± -1.983e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,15,3)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,15,4)
 / ndf 2χ  39.51 / 25

p0        0.0±  3928 

p1        0.0001879± 0.0006611 

TVC (Mean) vs TP delay (c,b,ch)=(4,15,4)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,15,5)
 / ndf 2χ   28.2 / 25

p0        0.0±  3927 

p1        0.0002012± 0.0005855 

TVC (Mean) vs TP delay (c,b,ch)=(4,15,5)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,15,6)
 / ndf 2χ  38.21 / 25

p0        0.0±  3928 

p1        0.0001782± 0.0004161 

TVC (Mean) vs TP delay (c,b,ch)=(4,15,6)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,15,7)
 / ndf 2χ  36.99 / 25

p0        0.0±  3924 

p1        0.0001891± 0.0005873 

TVC (Mean) vs TP delay (c,b,ch)=(4,15,7)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,15,8)
 / ndf 2χ   46.4 / 25

p0        0.0±  3926 

p1        0.0001895± 0.0001551 

TVC (Mean) vs TP delay (c,b,ch)=(4,15,8)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,15,9)
 / ndf 2χ  36.11 / 25

p0        0.0±  3919 

p1        0.0001828± -0.0001072 

TVC (Mean) vs TP delay (c,b,ch)=(4,15,9)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,15,10)
 / ndf 2χ  33.56 / 25

p0        0.0±  3918 

p1        0.0001819± -0.0001525 

TVC (Mean) vs TP delay (c,b,ch)=(4,15,10)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,15,11)
 / ndf 2χ  26.07 / 25

p0        0.0±  3927 

p1        0.0001770± 0.0001095 

TVC (Mean) vs TP delay (c,b,ch)=(4,15,11)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,15,12)
 / ndf 2χ  36.04 / 25

p0        0.0±  3931 

p1        0.0001761± -0.0002922 

TVC (Mean) vs TP delay (c,b,ch)=(4,15,12)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,15,13) / ndf 2χ  28.44 / 25

p0        0.0±  3926 

p1        1.78e-04± -2.67e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,15,13)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,15,14)
 / ndf 2χ  21.91 / 25

p0        0.0±  3923 

p1        0.0001758± -0.0004372 

TVC (Mean) vs TP delay (c,b,ch)=(4,15,14)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,15,15)
 / ndf 2χ  34.59 / 25

p0        0.0±  3926 

p1        0.0001726± -0.0003773 

TVC (Mean) vs TP delay (c,b,ch)=(4,15,15)
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TVC (Mean) vs TP delay (c,b,ch)=(5,0,0) / ndf 2χ  1.197e+04 / 25
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p1        0.00± -35.01 

C = 28.56 [ps/ch]

TVC (Mean) vs TP delay (c,b,ch)=(5,0,0)
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TVC (Mean) vs TP delay (c,b,ch)=(5,0,1) / ndf 2χ  1.168e+04 / 25

p0        0.0±  4170 

p1        0.00± -35.16 

C = 28.44 [ps/ch]
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